HE-TT=F+-A=+—BLFE

—EE=F —TE-F
Ktat FET FEr

mEER
K g 33,013 74,578

A

HiHEREME W) BA (960) 15,334
ITE R HEEE 45,617 61,105
HER R B EEE 13,370 —
FEMA (848) (962)
HEIREYFEEE 951 —
HEYE - KSR REEE 268 3,965
HERIEER 2 s - (25,506)
HENB A RSz K - (816)
LEESERIRICKERERE 91,411 127,698
FE (g ) m (14,804) 9,832
FEUE 5 BRFIE AN (37,836) (23,125)
TERFIE - e RE M EYEIER A (5 Hn) 32,813 (58,263)
JE < St i 2 B R IR R - 6,330
e 5 REMNEERSR OB BN (7,366) 37,364
HAth FE A I8 N FE AT SR IE S A0 CRl ) 7,889 (9,335)
FEFTSNPER B FRIE 38 0N 1,545 —
JE < gt 8 2 R SR IEE AN 6,144 11,717
KEEEX ARG 79,796 102,218
EREEFEH (12) -
BERgINRIE (4,194) (11,665)
REERMEE2EHSFHE 75,590 90,553

REX£WK
BEAYIZE - MR (52,802) (61,905)
Bt N F] (ER) B (23,759) 23,759
HEMB R RS SIE 27 26,116 7,022
HEREMEMEEIE 9,709 —
HEYZE - HES RBEBATEHIE 2,839 8,026
B Uk &N E 2 BB 1,964 —
2 A B 848 962
ERFRITERR L - 1,820
N ANCIL -yl - (5)
REXEKFTFEZRESTH (35,085) (20,321)




BE-FT=FI-A=t+—HILEE

—EE=F —EEF
FET FET
AE XK
EBIRTTER (56,338) (215,652)
B E (20,137) (8,054)
EFE (3,459) (13,255)
ENFLERRZIRE (1,418) (14,569)
HIBRITER 27,000 196,338
ARG - (7)
MELKFIECRES T (54,352) (55,199)
HeRBELSEE (L) ENFEE (13,847) 15,033
FZzRERREEE 94,607 78,727
INEERSE) CHE R - 847
FRZEESRESEE 80,760 94,607
RERBESEEER DN
IRITEHR MRS 80,760 95,371
RITEX - (764)
80,760 94,607






